Solution Tutorial-1

CE 601 Numerical Methods
i

O,

AL e 2
SoLution MANUAL _ TuToR: (

oo Gd e ablmeed f
' 4

_ ;o :
A = = , -3 o
o o o s
g = T+
S .def(/‘). s v o 4 |
-9 | -3 2
g e & &
3 2 1 =1

e O ) =0(C) +oLI? —2X _'Zc:f;
& 2 A

(_2)[,(.”9’0,( ) -+AC—4-’3)J = i

! 10 MARVS |

PR Sy S ol e

= 257
r 09 o-/9 -}.: ;
4] = 005 009 o< | , flo g Lot
[ J - O !g O.;S“ 0 -28 0_2'! A'
| 2 40
o9 021 p22 ¢ f,? v
027 O 04 O35 DP2
T g & b
EEN 9. : . i "I ¥ . ¥ o®
L]K,- ﬁdﬂw ﬁﬁ-ﬂﬂ'ﬂﬂ&h- f,ggﬂﬂ /



W
=
]
8=
=
&
{
:\'\%
X
ro‘,;r:
o

Step i (k=1)
- 7]
“:!2;;‘4 j 'é; a—?j: 1;'.': ?-—’ J g;r:q_-‘}_*
J e » 5, 4 w G‘F G':I
(1) ()
aj; = @ Qaa & Qe — /far 012
= 015 - 016 .p09 = =—0:138
)
aza = Q@ - -02, ql3 = 0:28 ~ 8 x(p‘o‘?)
= — 0008
(L}]
Qy = Gy - ,02' By = R 312“(01‘0
= = P38
A— (1) —
Q205 *—Qirjaata
k2 p 0q
b 2 k- s T [4s - Gadn (2]
2 2 21 q
= —-32 = 10
) (1
031 .G - G32 = Ggg fSlail
= 021 -(f_‘_!__‘?), 0-0? = —o132
005

Qs = U5 = %r Q,, = jog = J@xpwl = —@l=2Z



(v
Azs  ~ Ose ~ by G ; 027 — (8:8)(0'19) = -0452
L) :
b,” = by = fuby, = [40 — (3825 w0’ = w iy
el “l :
Gy =92 Qo = Quo - pmqiz ® 004 - ( 0227 )y 009
O oS
- = = 0446
Gz = %s 'Q; Gy = 0EFT (5""')(9‘9@ = -~ 0'136¢

w)
Q = Q- Q“GM 2 0~02-(5-4)(o-ay = ‘=hoos

]
b lodvﬁmb, = [!5-(5_'4)(25)_]3-:!()? = —}Qox!cﬁ

A
l 2L mMAris
S-k_r,, 2 (L:z)
)
L= 34 j P - Ge , THEED. . gASE
J = 2}3-.4 G{-‘) —p<1328
“
'652 = % 2 =446 Fv@ 218D
Qz:’ ~0:138
@ (2) (1 (M
@ =9 . gy = Gsz ~ b,,%s = -0-122 —(0-?565)(—0-0059
L% 'O'flf-435-
@ 0 & - =
5334——034—@2 q, - 0452 —(9-9585) (-0:399) = ~0-0F3!

(2) (2) ] 48]

Quz =® » Gqs = Qs -&zﬁn . —01!36-(3-231‘53)(‘0-00@; -0.11014
2} (1 th
C_?44 = Qu ",&EQM = -—/.906.-(3-,23:83)(-0-3?8): 0'28025*
2) () ) . 9
q
b, = bs ~P32\:.2 =[—55d_ (o-as'ss')(ﬂ:juo . —24.322 %10
et -—,\‘6‘57?84 )r!aq

I O T P e e’ =

|5 AR KS

/{;ﬁn /( = 3
Sl t2)
L= 4 by = % /& o TSI . ghcslE
= 34 33 0 11435
J = 3) (21 @ (2)
@ "9, %y T G T Lis %y = 0-2w2e—(o-?ssrs)(-0-0?f3;)
= 9-3489?

(€] 2) ) :
"‘?s = 54 = éﬁz Ez = [—f&s-}?‘?ﬁ —(:0,?63.‘8)('-—24,3?2):] wt6?

= 6-91405 x 0!
—_— i | MAR K '




[)’aoﬂmvd M“'
L R %
('n'i)
.
(»4)
het
n (&-1)
IW,¢ = ‘!7.-' ol g €. Z
J:.{-H ‘J J
(i-1)
e n =4 e BB
z)
. 9
X, = J% " 6 91405 x10 (q9.81273 > qu
(3 ) —_—
044’ 6-34897
0 22 ) o
e B A (el (ool
2} i )”0
& — 011435
q
= 200.95 x 10

8 (EIP (0

Sy 2 ‘ag_aats:r,g' Q24I"

o
= [*'32 ~ ('0'008)(200-93') — 60:398)("9'8"2?3‘])”0?

— 038

1630937 "”99

W

e ——

x, = b - G:zxz - @37 #G"?':r"

]

17

"

& [25— . Gou% IE3098F — 00 EOORT = 019 x 19823

0-05

. -23.5¢703 x (07

gt 10 MMk,




8 =,
'IF
—2u
2 %
Soen

+ 22, — 25!_3 — 1,{
+ 52, -2 % —6 %

i 2 ! 2 = >,
| 2 -2 i y
-2 - = 3 'xz
2 3 -2 =g 3:

*

"

3 e

-1

e
4 oy K
.[’i) affl’] a“fv:)
‘(‘J - _—J——:ck 2 - ,g L+{ ;:r?,. g o
Qkk = (j
QU«J k=12 3. ¥l
oy &
k) (k-1
bk - _ki'f._
(k=1)
el
.y 'A’—ff
(m B ( (k-1
Ly = & _ 4 _
g("f',‘ /J' P
ke
Ja LBE et ke, kg - B
g i CRA W L34 o 234
e &S
o Ge 0“‘-') k- (kaw
4 i ] e Qg / _
Wy q L & =23 h-t, k+l,
B " ,o(_’k-n Oe) . (k) / .
& = ik LJL o J = i( fti—{' 3 "



{].lll.)

(&)

(1]
Qs
[}

G
a(fr

k'

SEEP L C.l' . l(='.)
p a
y = . o 2 5
Q‘d s I 1,234
a.
‘v Q)
@ = I 1 ‘ (L]
" 4 2 '§ = 0.’25’/ G,g =§-= 0.95;
()
CPJq. = :8—'- = =i, |25
®
bl = ‘% = O-3FE
f(‘ = Z - =
‘3J4 /f'j; " 02! - /
’fSI = G = 2
Li = Q=2
j:: 23 4 a;:’ 50)
d‘—. 1,234 ()
iy =2 Qa = Oy Yz = 2—(x 0-125)
a." = gf |.875
2 = i
. Qs ~ 2,2, = “2-(1raF)= —#42.25
{” _—
P = =0
= T Qz.drasrxalq = f_(‘*xﬂ "f_i‘_gs_
(n :
bz = bﬁ. = C?Zf b, = @3— (fx 0;:?7"5‘)‘
el
a..':h =¥ '
ul s
32 = Qg2 ~ a,, alj_ = d - (—j.u 0.125») = -0 %50
a(i) = il a
i s = Gy, ® S-(-21028)s 550
)
Ayy = Q34 - 5,8, = 3 - (-2~ —ouzs) = 2790
(1
b,” = &:3 —as,lo, = @~ 6“2‘0‘3”) = 0.750
= OJ
= Qg 4:1_‘,0la = 3*(23 o-fasr) = 2. 750
s Qg - Q4 Qi = -o-(2x 025) = 2500
= @y - O, &, = & 2% -0+125) = -5-7sv
s b - @b, = n - Caxosr) = - ) 75O

[.—?—;;;q \



(1(ﬂ GU]
? : = )
3d ‘:‘:) ; J:2'34 ,g:,..d L 1. 875
022
: (27 (2) -2 25 (22 —
Qzz = 57 Qs = T.a75 s “HE? Qs ey 069
@ 18 & | 875
bz_-@...#-a-?ﬁ' _ —e €6 @?.g,ﬁ;%-—.»rdo
— =S P55
e % I (7 |8 ()
4= L L 12 © 2 = 0"25) 72 32 g s
L. = B =27
(v L=l 3-"‘} a(zl = O
12
3= 2,34 2 w (2 -
Gy = Qs — ﬂ!z 23 025~ (o ime= "259: 0+49
2 (# (29
al4 = Qu ,ﬂz 024 = —QvE2ST (0425‘:: o a’cﬂ = 020
(&) (i) 2) |- 40 o 20
by =k, = Ak = 0.375 -~ (0125 * ) =
@
Az = & -
) = = g ;
asg; = Qs3 ,?32 Ay = 5-50 - (-0-?rxw—-t«2r9) = 4:600
(2 ) 2}
Qg = Q34 ~ W, By = STE 0P8 s¢) = 329
(2!
g @ 140 |-300
3 b-i' J'@m T 0'?50‘("0"75"‘ "15"'9‘6'5';):-—5’-'-59"-
(-2
O =
(21 () [z
65 = Us ~ 4= " -280— (@ 7" -120) = ©0°80
[?m o ar )
<4 = QM .&2- Qz“ z =& rs - (2« FE 0,60) = - 7'40
!:)I.ZI - iN] B @) I'I}O --'IS"é‘o
% b, ,&2102 o = RS = (/Z-?fx W—?): %4
2 MARKS
stp B e kex)
o atm G(Z}
3 = 31 =34 (2)
3 - o J and gy = 4160
33
a{:n i - -
s =10 5 G T TE 069565
2! 460
!0 @)
3 = X
460 4%9 . —o 8267 = 1:80 . 03913
4 60



“ 22 (2)
cu <= LZ4 5 /63 = le = 0-40 I ,pzs = 023 = =}:20
j (2)
43 = Gz = 080
G A J,2,4j a(‘:’ .o
i
=34 = (2) (27
J . * —,15?35234 = —0'20- (040 x 0.69565)
2 @ LD(.E) 5520 0.3:;’;0-47825
f°1 > b; _"€3 3 = +=3353 “(0-40 x -_-@Ig%.g.a.q)
= O & eI
) e
4, =B =0 04348
@31 2 ()
Az = %y — ’@.3 Gry = 060 - (-120 x 069565) = /43478
|- 8EISE
(31 (% 1) (3) l|40 0|3"|‘3
%102 :J'og*fgsba = : ”G"ZQ’WZ 4
(2!
%s =¢© 3
(24 (2) o i e " _ —7. 95652
@4 = @, 'égaﬂ - 7.40- ((©0:80 x 0 gz} = TV-AE _—
bcz-: 2/ (3 —is g © 393 s f e A
4=b,* *.(743[,3 ;%_(O.va—o—s-.?-&&?:ﬁﬁ:m‘
Step 4 (k=4)
(4) (4] (3 —i5 304
(0 Qg = 100 y = E‘i N EENET t@ 2
() —7.95652 = ==
() 7-9
(3 0 < @ 143478
W £=0L23 . ‘é?:# . 0,44 = —=o47826 by ® %4,

Ly = @F - 069565
o HL o 04348
(i 4= 1.23 (47 «! (31 b g - £o. * 2
S e K g EE ey
= | oy

4/ 3/ (42 .3695‘6
Gt =0 lqzm—bz-"jj,bf = ‘l?tﬂﬂﬁ—é-dfié?éixgkmr)

- @1 @ =1
l—-‘__‘_,__.r——"_'_d'_
[3 MARIES i




